
YRXU HJJ cRXQW LV ORZ
YoX Veem Wo haYe a loZ amoXnW of eggV foU \oXU age. YoX aUe aW UiVk of enWeUing
menopaXVe eaUlieU Whan aYeUage, bXW Whe UiVk iV VWill UelaWiYel\ loZ.

YRXU AMH (AQWL-MXOOHULaQ HRUPRQH)
Ant i-Mullerian Hormone gets released by the
growing follicles in your ovaries. It Ìs the most
reliable predictor of egg count  that  exists. A
higher AMH means a higher number of eggs.
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The median AMH leYel (Whe YalXe WhaW occXUV moVW 
ofWen) foU a 28 \eaU-old iV 3.25 ng/mL. 
 

YoXU egg coXnW iV aUoXnd Whe 10Wh peUcenWile. ThiV 
meanV WhaW 90% of 28 \eaU-old Zomen haYe a 
higheU amoXnW of eggV and 10% a loZeU amoXnW of 
eggV. 
 
On aYeUage, people enWeU menopaXVe aUoXnd 51. 
ËEaUl\ menopaXVeÌ iV Zhen people haYe WheiU laVW 
menVWUXal peUiod befoUe Whe\ÌUe 45. YoX aUe aW a 
higheU UiVk of ËeaUl\ menopaXVeÌ Whan Whe aYeUage 
Zoman, bXW Whe UiVk iV VWill UelaWiYel\ Vmall. 
 
AboXW 10% of Whe geneUal female popXlaWion enWeUV 
menopaXVe befoUe 45, and foU Whe people ZiWh \oXU 
AMH, WhaWÌV UoXghl\ 28% (Uef 2). RemembeU: WhaW 
meanV WhaW Whe majoUiW\ of people ZiWh \oXU egg 
coXnW enWeU menopaXVe aW an aYeUage age! 
 
HeaUing WhaW \oX haYe a loZ nXmbeU of eggV mighW 
VoXnd VcaU\, bXW giYen \oXU oWheU YalXeV, iW doeVnÌW 
haYe Wo mean an\Whing bad foU \oXU chanceV of 
geWWing pUegnanW UighW noZ. 
 
AMH Va\V noWhing aboXW \oXU cXUUenW feUWiliW\, bXW 
haYing a loZ AMH mighW mean \oXÌUe a leVV 
VXiWable candidaWe foU IVF oU egg fUee]ing.

Depending on ZheWheU oU noW WhaWÌV poVVible foU \oX 
and hoZ WhiV UeVXlW makeV \oX feel, \oX coXld 
conVideU moYing Xp \oXU Wimeline (Vo VWaUW WU\ing foU 
kidV VooneU), oU Wo fUee]e \oXU eggV.



Why do we test it?

What you should look out for: Ok, so whatÌs next

GeWWing pUegnanW iV like Uolling a 6 ZiWh a dice: Whe 
moUe aWWempWV \oX geW, Whe higheU Whe oddV of 
geWWing lXck\. AV \oX geW oldeU, \oX haYe feZeU 
c\cleV and WheUefoUe haYe feZeU aWWempWV aW geWWing 
pUegnanW lefW. EaUl\ menopaXVe (befoUe 45) meanV 
WhaW \oX haYe a VhoUWeU ËfeUWile ZindoZÌ, and leVV 
chance of geWWing pUegnanW.

YoX ZeUe boUn ZiWh all Whe eggV \oXÌll eYeU haYe, and 
eYeU\ c\cle \oX loVe Vome in pUepaUaWion foU 
oYXlaWion. YoX Ueach menopaXVe Zhen \oXU egg 
VXppl\ iV finiVhed.

Reall\ impoUWanW Wo UemembeU: \oXU egg coXnW 
Va\V noWhing aboXW \oXU cXUUenW feUWiliW\, ZheWheU 
\oX Zill become pUegnanW, oU hoZ long iW Zill 
Wake. YoX onl\ need one egg Wo conceiYe!
To geW pUegnanW \oX do noW onl\ need enoXgh 
eggV, bXW alVo good qXaliW\ eggV. UnfoUWXnaWel\, 
WheUe iV noW (\eW) a Vingle WeVW WhaW can Well XV 
an\Whing aboXW Whe qXaliW\ of \oXU eggV.
The pUedicWiYe YalXe of AMH foU Whe Wiming of 
menopaXVe iV noW peUfecW, and WheUe ma\ be 
YaUiaWion (Uef 2). To geW pUegnanW \oX do noW onl\ 
need enoXgh eggV, bXW alVo good qXaliW\ eggV. 
UnfoUWXnaWel\, WheUe iV noW (\eW) a Vingle WeVW WhaW 
can Well XV an\Whing aboXW Whe qXaliW\ of \oXU 
eggV.
A loZ AMH jXVW meanV an incUeaVed UiVk of eaUl\ 
menopaXVe - iW doeVnÌW mean iW Zill definiWel\ 
happen.
YoXU AMH can geW impacWed b\ hoUmonal biUWh 
conWUol, Vo if \oXÌYe onl\ UecenWl\ (leVV Whan 3 
monWhV) come off biUWh conWUol, When WhaW coXld 
be a facWoU.
AboXW 50% of all caVeV of eaUl\ menopaXVe aUe 
geneWic, Vo iWÌV ZoUWh aVking \oXU moWheU / 
female UelaWiYeV Zhen Whe\ had WheiU laVW peUiod.

A loZ AMH doeVnÌW haYe Wo mean an\Whing iV 
ZUong, bXW Ze do Uecommend fXUWheU 
e[aminaWion. YoXU GP oU g\naecologiVW can do 
an XlWUaVoXnd Wo coXnW hoZ man\ Uipening 
follicleV WheUe aUe.
TheUe iV no VXch Whing aV a peUfecW age Wo haYe 
kidV - Whe UighW Wime dependV on a loW moUe Whan 
jXVW biolog\. YoX can alVo conVideU doing 
noWhing, and UeWeVWing \oXU AMH eYeU\ 6-12 
monWh Wo XndeUVWand \oXU peUVonal feUWiliW\ 
cXUYe.
The moVW impoUWanW WhingV WhaW affecW \oXU egg 
coXnW aUe \oXU age and \oXU geneV. TheUe iV 
inVXfficienW eYidence WhaW \oXU ZeighW oU dieW can 
affecW \oXU egg coXnW, bXW if \oX'Ue a VmokeU: 
VWopping Zill definiWel\ help.


